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A. 
Tick () the correct option. 

1. 750 is equal to 

a. 50 paise. b. 500 paise. 
C. 5000 paise. d. 5 paise. 

2. 48 paise + 52 paise is equal to 

b. 10. a. F1. C. 0.10. d. 7100. 

F 50.50 taken away fromR T00. Amount left is equal to 

a.49.50. b.50.50. 50. C. d. 500. 

4. Cost of 4 pens, if each costs 10.75 is 

b.43. a. 740. d. 74075. C. 40.75. 

B. Convert the following amount of money into paise. 

1. 25 rupees paise 

2. 20 rupees paise 

3. 55 rupees 42 paise paise 

C. Subtract. 

1. 7 53.52 from 725.20 2.724.15 from 55.22 3. 22.14 from 93.60 
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